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ENGLISH VERSION

Instructions :

(1) All questions are compulsory.

2) Q.1 M.C.Q. are total 20 marks all answers in answer book.
(3) Total five questions. All are compulsory.

4 Q.2 and Q 3 are 12 marks and Q. 4 and Q. 5 are 13 marks

1 MCQ.: 20
¢ test for goodness of fit.
A t B) 42
© Z O F

(2) Which of the following is > test ?

(A) Parametric (B) Non parametric
(C) Both (A) and (B) (D) None of the above

3 If xzc szt than H is

(A) Rejected (B) Accepted
(C) Both (A) and (B) (D) None of the above

(4) Who developed the theory of anova ?

(A) Karl Pearson (B) Fischer
(C) Spearman (D) None of these
B) test used for testing population variance.
(A) t-test B) 2 -test
(C) F-test D) Z-test
g2
© If F="L then $2... &7
2
2
(A) Greater (B) Less
(C) Equal (D) None of these
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(7) In ANOVA method learning of any subject which
technique used ?

(A) Blocks (B) Treatments
(©) Yield (D) None of the above

(8) Which test is used for analysis of variance ?
(A) t-test (B) F-test
(C) Z-Test (D) None of the above

(9) Which test is use for testing Hy:pj=p, =p3 ?

(A) t-test (B) Analysis of variance
C) 7Z test (D) None of the above

(10) Which factor is main production ?

(A) Machine (B) Raw material

(C) Workers (D) None of the above
(11) distribution is used in the construction of

P-chart.

(A) Poisson (B) Binomial

(C) Normal (D) None of the above
(12) Consumer's risk known as and customer's risk

known as

A) B B) o.p

© »,q (D) None of the above

(13) Single sampling plan known as

A (N, n) B (N, n, o

©) m,c N (D) None of these
149 PP=0 —> AOQ = And P'=1 - AOQ =

A 01 B) 0,0

© 1,0 O 1,1
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(15) plan is very easy to understand.
(A) Double Sampling (B) Single sampling
(C) Multiple sampling (D) None of the above

(16) Which distribution theory follows variable charts works ?
(A) Normal distribution
(B) Binomials distribution
(C) Poisson distribution
(D) None of the above

(17) On the basis of which distribution 'C' chart is ?
(A) Poisson distribution (B) Normal distribution
(C) Binomials distribution (D) None of the above

(18) How many type of possible errors in acceptance sampling ?
(A) Two (B) Three
(C) Four (D) One

(19) P-chart is chart for what ?
(A) Attribute (B) Variable
(C) Both (A) and (B) (D) None of the above

(20) Difference between maximum and minimum value of
sample 1is called

(A) Range (B) Standard deviation
(C) Mean (D) None of the above
2  Define chisquare test for goodness of fit. 12
OR

2  Four coins were tossed 160 times and the following result 12
were obtained.

No of head (x) Ol 1 (2]3]|4
Observed frequency (F) [17 |52 [ 54 [31 |06

Test the hypothesis that the coin is unbiased.
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3  For the ANOVA methods information do analysis of 12
variance.
A(12) [ C(19) | B(10) | D(8)
C(18) | B(12) | D®) | A(D
B(22) [D(10) | A(5) |C(21)
D(12) | A(7) [C(27) |BQAT)
OR
3  Discuss by example for ANOVA method for one way 12
classification.
4  Explain responsibility of S.Q.C. unit ? (Statistical Quality 13
Control).
OR
4  From the following information prepare x and R charts : 13
Sample no. 2 415 8 10 | Total
Range R | 6 8 5 5 58
Mean; 51146 |43 147 |45 144 137149 (43 (37| 442
[For n = 4, A, = 0.729, Dy = 0, D, = 2.282]
5  Write a note Single Sampling Plan (SSP). 13
OR
5  Write a note. Double Sampling Plan (DSP). 13
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